Bowling Quiz 1-NEED GRAPH PAPER!  



Name: ____________________________
1. What is the difference of the following expression?
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2. The function C(m) = 2m +8 represents the cost to rent m movies a month from an internet video club. Sam now has $5. How much more money does he need in order to rent 6 movies this month?
      a. $20


b. $18


c. $13


d. $15
3. What is the slope of the graph of the equation 4x + 2y = 17?

     a.  –8.5


b.  –2


c.  2


d.  4
4. The table below shows the cost of a coffee based on the number of extras ordered.

	Number of extras (n)
	Cost (c)

	1
	$2.00

	2
	$2.75

	3
	$3.50

	4
	$4.25


Which function represents the cost of a coffee with n extras added on?

     a. C(n) = .75n + 1.25
   b.  C(n) = .75n + 2
c. C(n) = 2n + .75

d. C(n) = .75n
5. Given the system of equations below, what is the value of y?


3x – 2y = 12


4x – y = 11
      a.  – 3


b.  -2


c.  2


d.  3
6. The function 
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What is the value of k?
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7.  Which graph represents the equation  y = x² + 1?
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8. What is the difference in the y-intercepts of the graphs of the functions f(x) = 3x + 7 and g(x) = -16x2 + 4x + 15?
9. The vertices of quadrilateral ABCD are A(1, 3), B(1, 1), C(-1, 1), and D(-1, 3). What kind of quadrilateral is ABCD?
     a. Trapezoid 




b. Rectangle that is not a square 

     c. Rhombus that is not a square

d. Square
10. The floor of a rectangular cage has a length 4 feet greater than its width, w. James will increase both dimensions of the floor by 2 feet. Which equation represents the new area, N, of the floor of the cage?

     a. 
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11.While standing on a cliff 24 feet about the lake, Serena threw a rock with an initial upward velocity of 20 feet per second, The equation h = -16t2 + 20t + 24 gives the height, h, of the rock after t seconds. How many seconds does it take the rock to hit the water?
12. Alejandro invested $150 in two accounts for six years. The ending balances for each year are shown in the table.

	Time (years)
	Investment A
	Investment B

	0
	150.00
	150.00

	1
	152.00
	151.95

	2
	154.00
	153.93

	3
	156.00
	155.93

	4
	158.00
	157.95

	5
	160.00
	160.01

	6
	162.00
	162.09


a. The balance for Investment B grew at a greater constant rate than the balance for Investment A.

b. The balance for Investment B grew at a greater exponential rate than the balance for Investment A.

c. The balance for Investment A grew at a constant rate, while the balance for Investment B grew at an exponential rate.

d. The balance for Investment A grew at an exponential rate, while the balance for Investment B grew at a constant rate.

13. The following numbers represent the number of pass completions made in 10 football games by the Central High School football team: 6, 11, 4, 8, 6, 6, 9, 5, 6, and 12.

Find the 
Mean:


Median:



Mode:
14. Cell phone Company Y charges a $10 start up fee plus $0.10 per minute, x. Cell phone Company Z charges $0.20 per minute, x with no start up fee. Which function represents the difference in cost between Company Y and Company Z?

      a. 
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15. The area of a trapezoid is found using the formula A = ½ h(b1 + b2), where A is the area, h is the height, and b1 and b2 are the lengths of the bases. What is the area of the trapezoid?

      a. A = -x – 1


      b. A = 2x + 2

      c. A = 5x + 5

      d. A = 6x + 6
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16. Which system of linear inequality is represented by the graph?
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17. What table best represents a linear model?

a.  


b. 

c.



d. 

	x
	y

	1
	5

	2
	8

	3
	10

	4
	11


	x
	y

	1
	5

	2
	15

	3
	45

	4
	100


	x
	y

	4
	2

	6
	3

	8
	4

	11
	5


	x
	y

	5
	-3

	6
	-5

	8
	-9

	12
	-17


18. What is the slope of a line parallel to a line that passes through the points at (-2, 6) and  (3, 9)?

     a. 
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19. A company charges an amount per box, and a bulky item shipping fee to ship items that are oversized to a customer.  Below is a table for showing the number of boxes and the total cost of the shipment.  What is the shipping fee?
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A.  $0.81     

B.  $29.00








C.  $10.89     
D.  $59.89

20. A farmer has 12 red chickens and 4 black chickens. Overall, the chickens lay 36 eggs each week. If x represents the red chickens and y represents the black chickens, which of the following gives a graph of the function?

[image: image29.png]Boxes TotalCost
25 59.89
81 99.99
79 91.36
37 4699





_1576403554.unknown

_1576403561.unknown

_1576403563.unknown

_1576403565.unknown

_1576403566.unknown

_1576403567.unknown

_1576403564.unknown

_1576403562.unknown

_1576403556.unknown

_1576403560.unknown

_1576403555.unknown

_1576403549.unknown

_1576403551.unknown

_1576403553.unknown

_1576403550.unknown

_1576403547.unknown

_1576403548.unknown

_1576403546.unknown

